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(i) @UEFH - J97GEI 1 T 16 7% TglaHcd1T YR & 97 8 | 3795 J97 1 3 HT 3 |

(iv) TIET-J57GEI17 T 21 7% 37 TG ITIT IR & J97 & | Id% I97 2 371
BT & |

(V) GUST - YT TEI122 T 28 T T I YHR & J97 & | Feb 97 3 371 H1 5 |
(vi) TUSY - 97 GEIT29 TIT 30 FH TR J97 8 | I Jo7 4 3% HT & |
(vii) GUEF - J7GEIT31 @33 TF e I JHR & JI7 8 | oI T97 5 HHI HT & |

(viii) ST T T [T 7&] 152 7T & | T, GUE & & HIIRFT 511 GV % I Tl
4 3711 197 &7 TI7 13T TIT & |

(ix) &I G 1% IR GO & 1o7g 37677 39497 & |

(x)  HIPIcT BT ITINT Tloid & /

gus —<h

I AT 1 9 16 Toh Sgiahedid JhR e+ 1 AF H I ¢ | 16 x 1 =16

1. K,SO, forera = fofu, o8 Ad g T g 312H 81 71 8, 102 8% I 3

A) 1 (B) 3
(C) 13 (D) 2
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GENERAL INSTRUCTIONS :

Read the following instructions carefully and follow them :

(1) This question paper contains 33 questions. All questions are
compulsory.

(11) Question paper i1s divided into FIVE sections — Section A, B, C, D
and E.

(111) Section A — question number 1 to 16 are multiple choice type questions.

FEach question carries 1 mark.

(iv) Section B - question number 17 to 21 are very short answer type

questions. Each question carries 2 marks.

(v) Section C - question number 22 to 28 are short answer type questions.

Fach question carries 3 marks.

(vt) Section D — question number 29 and 30 are case-based questions. Each

question carries 4 marks.

(vit) Section E — question number 31 to 33 are long answer type questions.

FEach question carries 5§ marks.

(viit) There 1s no overall choice giwwen in the question paper. However, an
internal choice has been prouvided in few questions in all the Sections except

section A.

(1x) Kindly note that there 1s a separate question paper for Visually Impaired

candidates.

(x) Use of calculator 1s NOT allowed.

SECTION - A

Question No. 1 to 16 are Multiple Choice type Questions, carrying
1 mark each. 16 X 1 =16

1.  Van't Hoff factor for K,SO, solution, assuming complete 1onization is

A) 1 (B) 3
(C) 13 (D) 2
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El_m'_l'{%:

(A) TIAT o 1Y GHI §gd ¢ |

(B) a1 % H1Y QHI &1ed & |

(C) TR0 hid T ATeAehdl S@d! & Saleh IR ATiehd]l gl & |

(D) AT i T ATASAT Tedl & STfeh HIel dTetehdl 9@d! & |

3. TrAfafad 3 9 - TS Yaoaq &R sl dE H1 L Fehdl & ?

AT FTeTehdl Ud HIei TTeiehdl GHI ohl THTTAd LAl & | GFT 9T Akl hl IHTE

(A) OH- (B) C4H,O"
-
(C) RO~ (D) Q
05N

4. 199 30 H 9 fohed dreh § fafgad C 9] 18t 8 2

ﬁI i
C, C,
(D) 7 "By ) =" By
CHy = -
Cl Cl
T T
C; C,
(I11) HO/ = ﬁ"CHzCHS IV) D/ = WCHS
CH, CH,
(A) 1, 11, II1 (B) 1, 11, 111, IV
(C) 11, III, IV (D) I, III, IV
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Dilution affects both conductivity as well as molar conductivity. Effect of

dilution on both 1s as follows :

(A) both increase with dilution.

(B) both decrease with dilution.

(C) conductivity increases whereas molar conductivity decreases on

dilution.

(D) conductivity decreases whereas molar conductivity increases on

dilution.

3.  Which of the following species can act as the strongest base ?

(A) OH- (B) C4H,O"
-
(C) RO~ (D) Q
05N

4. In which of the following molecules, C atom marked with asterisk 1s chiral ?

H D
e o
ORI ) 5",
5 Cl
D H
& o
(D) 4o = "CH,CH, V) n¢ = ",
CH.,, CH,
(A) 1,11, IIT B) I, 1L, III, IV
(C) 1L IIL IV (D) I, III, IV
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feret SAfufshar 4S9 Stfrertes i ATgdT IR AT 9@T8 Sl & af AMIhAT o dietg AT
&g SaT g | sk Hr=ife 8
(A) 2.5 (B) 2.0

(C) 1.5 (D) 0.5

6. T=fciiga oetl o & H |1 a1 39 U Wed 2idl @ ?
(A) TF EA (B) H, - O, %M 4

(C) b | (D) Ni-Cd ¥

7. GHYUEL 94T 1 AT § 99

(A) I9 (B) 3A9aqTeh

(C) 9UE oI (D) ATGH

8.  ThHYT YTV SHAAUHIRA AMiTeh S o ToTT VeI STH STd & | STauehref Afehi o &+
o Heh Ul YTqU B STl &

(A) 3Afereh 3R (B) 31l e

(C) 37fereh a4 (D) 3Tfereh Yrfeareh

9. 1Y IR T H FARIBIH o Tof: TR0 g Icatied feordeft 71 2

(A) HIEHH (B) w&E g
(C) W& (D) 31 (fer) T
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5. The rate of a reaction increases sixteen times when the concentration of

the reactant increases four times. The order of the reaction is
(A) 2.5 (B) 2.0

(C) 1.5 (D) 0.5

6. Which of the following cell is used in hearing aids ?

(A) Mercury cell (B) H, -0, fuel cell

(C) Dry cell (D) Ni-Cd cell

7. Isotonic solutions have the same

(A) density (B) refractive index
(C) osmotic pressure (D) wvolume
8. Transition metals are known to make interstitial compounds. Formation

of interstitial compounds makes the transition metal
(A) more hard (B) more soft

(C) more ductile (D) more metallic

9. Auto-oxidation of chloroform in air and light produces a poisonous gas

known as
(A) Phosphine (B) Mustard gas
(C) Phosgene (D) Tear gas
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10. Tr=fcifigd UeshHIl | € i 91 UsshiH 317 ISIA ST IsH gRT e —sJfee Toehlgich
JcTied Sl ?

(A) CH,CH,CH =CH,
(B) CH,CH = CH,
(C) CH,— CH=CH- CH,

(D) (CH,),C = CH,

11. <1 gs AMThAT 61 @&l A4 2

Ar - N; X~_Cu CN/KCN, Ar-CN + N,

(A) TUSHRR THThAT

(B) fsiuet Afemrgs dveiyor

(C) hIfdeAuHT 37fHfsRan

(D) BIRHME SHMES fHrtertor Tisfsha

12. Torelt IIEH ¥ 98 fafre shy fSas viel 31/t S99 fRid 8id 8, shaddl &

(A) TTUHS T=HT (B) Tgdi¥es &=
(C) qdiFeh G (D) <adseh T
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10. Out of the following alkenes, the one which will produce tertiary butyl

alcohol on acid catalysed hydration is

(A) CH,CH,CH = CH,
(B) CH,CH = CH,
(C) CH,- CH=CH-CH,

(D) (CH,),C = CH,

11. The correct name of the given reaction i1s

Ar — N3 X~_Cu CN/KCN, Ar—CN + N,

(A) Sandmeyer’s reaction
(B) Gabriel Phthalimide synthesis
(C) Carbyl amine reaction

(D) Hoffmann bromamide degradation reaction

12. The specific sequence 1n which amino acids are arranged 1n a protein 1s

called its

(A) Primary structure
(B) Secondary structure
(C) Tertiary structure

(D) Quaternary structure
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I3 HE&A1 18 © 16 % o1, &l A 1T T 2 — TS0 Tk ol 3R (A) AT gHL
T (R) BRI 3Afehd TohaT AT 8 | 39 9941 & Tal 3T A1 feu mu sl (A), (B), (C) 3K

(D) | & TR ST -
(A) AMHUT (A) 3T HROT (R) SHT & & 3T R (R), 311hAT (A) 1 GEt ST

ST 2 |

(B) AT (A) 3R SR (R) TAI W&l &, 9 &Rl (R), 3Mhea (A) 6 @&

SISIEHEIGIER

(C) 3MHYH (A) TE 8, T 1l (R) TTeTd 2 |

(D) 3f¥reheA (A) TTetd 2, T 1T (R) T&l 2 |

13. SR (A) : Frel I e 61 s % fore a1 fRrw 3 iR 3 )

SH1Sd] IHH Bldl © |

%R (R) : [ Shile T AR 1, FAMITRAT o MR T Agar T W
Jai il 2 |

14. ANHA (A) : Zr 3R HE 61 19T THH GH9] AU 2 |

ST (R) : I8 RIS 3T o SR 2 |

15. ANHYT (A)  : m-HUTRABHTA ohl o1 H p-HATRAhH T TaeTal 3EA 8 |
&I (R) : T Tg 7T 3R 90 g1 feafo™i T +R 9919 oman 2 |
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For questions number 13 to 16, two statements are given one labelled as
Assertion (A) and the other labelled as Reason (R). Select the correct
answer to these questions from the codes (A), (B), (C) and (D) as given

below :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) 1s the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) 1s not the

correct explanation of Assertion (A).
(C) Assertion (A) 1s true, but Reason (R) 1s false.

(D) Assertion (A) 1s false, but Reason (R) 1s true.

13. Assertion (A) : The units of rate constant of a zero order reaction and

rate of reaction are the same.

Reason (R) : In zero order reaction, the rate of reaction 1s independent

of the concentration of reactants.

14. Assertion (A) : Zr and Hf are of almost stmilar atomic radii.

Reason (R) : Thisis due to Lanthanoid contraction.

15. Assertion (A) : p-methoxyphenol 1s a stronger acid than m-methoxy

phenol.

Reason (R) : Methoxy group exerts +R effect at both ortho and para
position.

56/5/3/22 11 WAAAAAAAAANAAANAAAAAA, P.T.O.
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16. ANMHY (A)  : 9 1-FHISIH STATECd BIAT & a6 T8 a1 Tldetm ferd fepan
ST 2 |
ST (R) :  SAWTRAT S\ 2 8 3T HshAvl 3TEAT < [HIU o H1Y TS B! 3 |

dig - ¢
17. (a) T4 wa=awor = i
(1) ATSeIE=iH o Uf¥e 1
(ii) U ¥ BHle 1
AT
(b) (i) STEHYE UHA 3R A ¥ fodg ot o fore qamafes ademn fofau | 1
(ii) Si STEUSIH FA3e bl KI o |1 371%ehd fhu S W [Hidd 3ca1g
feTRaT | 1
18. THHfcTRad o1 TR o - 1x2
(a) HIHE HIeR ITeAehd]
(b) U EA

19. T=TIRgd SehUstl sl HIHERUSE 3T SEHKUTS H ATfichd hINIT :
ohISl, TFIST To[hIsl, Theare sl 2

20. 0.2 mol L! KC! faeraq 9 W gU T ATetehdl Hed ol Ifald 200 Q 7 | A 3 T 1
gfcie 0.05 mol L1 KC! fae@ 9 9 620 Q &1 d1 0.05 mol L~ KC! oo <t

TeThdl Ud Ao ITeTehdl Uiehietd hifold | 0.2 mol 1! KC! fae™a &t Sretehd

0.0248 Sem™ 1% | 9

21. Trdt wem sife hY 3rfufskan spt 75% 3199eq & fau 40 fiFe &g 8 | 91 s

JTehoTd ShITaU | 2
[fea1 2 : log 2 =0.30, log 4 = 0.60]
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16. Assertion (A) : Inversion of configuration 1s observed when

1-Bromobutane 1s hydrolysed.

Reason (R) : The reaction 1s 542 and proceeds with the formation of

transition state.

SECTION - B
17. (a) Carry out the following conversions :
(1) Nitrobenzene to Aniline 1
(11) Aniline to Phenol 1
OR

(b) (1) Write a chemical test to distinguish between Dimethyl amine

and Ethanamine. 1

(11) Write the product formed when benzene diazonium chloride 1s

treated with KI. 1

18. Detfine the following terms : 1 X 2

(a) Limiting molar conductivity (A°m)

(b) Fuel cell

19. Classify the following sugars into monosaccharides and disaccharides : 2

Sucrose, Lactose, Glucose, Fructose

20. Resistance of a conductivity cell filled with 0.2 mol L1 KCI! solution is
200 Q. If the resistance of the same cell when filled with 0.05 mol L= KC!

solution 1s 620 Q, calculate the conductivity and molar conductivity of
0.05 mol L1 KCI solution. The conductivity of 0.2 mol L. KCI solution is
0.0248 S cm™1. 2

21. A first order reaction takes 40 min for 75% decomposition. Calculate rate

constant. 2

[Given : log 2 =0.30, log 4 = 0.60]
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22. C,H,N A1fuses g1 aret ferefl Aifires X 4 C,H, SO, Cl % |1 3T Shieh Teh &R H
3faetd 3 fga1 | X ol 989 SHIfT 3R Icd1g 1 318 Y 9T T H 9W T | Heg
Afsra fafgu | 3

23. T=ferRad o s die - 1x3
(a) AgCN o |1 ATk Shich getiUeh & Icd1g IMSHETRIATSS (HiHd &hid & |
(b) UfeTeT FeTiIge S 1 SATHTshAT o Ufd 3rferes fshamefictdr Yefid tar 2 |
(¢) BN ATfireRtrtt Tfawemae 3rfirferanati o ufd 0 framfia gd 2 |

24. TretIiEgd IuagEASH Aifehi o 3118 9T THT 9 fifEge (@1 dF) - 1x3
(a) [Co(NH,),CI(NO,)|C! (b) [Ni(NH,)CL,
) K [Cr(C,0,,] (d) [Co(en),Br,]"
25. TrefeRad g SAffera o g&d IaTgl i 9ta-1 ST : 1x 3
O

[Ag(NHj3)o]* OH™
(a) >

CHO

CHB\ w
(b) /C = C\\
H (If g CHS
O

@CHO NaCN/HCI
(c) >
COOH

26. fr=fafad 9a & emf 1 Iiepaq FHifsw 3
Ni(s) + 2Ag1(0.01 M) — Ni%t (0.1 M) + 2Ag(s)
IFRIRIE I Ei_ =1.05V,log10=1

H
bty NaOI
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22. A compound ‘X’ with molecular formula C;HoN reacts with C.H.50,CI to

give a solid, insoluble 1n alkali. Identify ‘X’ and give the IUPAC name of
the product. Write the reaction involved. 3

SECTION - C

23. Account for the following : 1x3
(a) Haloalkanes react with AgCN to form i1socyanide as main product.

(b) Allyl chloride shows high reactivity towards Sy1 reaction.

(¢c) Haloarenes are extremely less reactive towards nucleophilic
substitution reactions.

24. Write the IUPAC names of the following coordination compounds

(any three) : 1x3
(a) [Co(NH,),CI(NO,)]CI (b) [Ni(NH,)4]Cl,
() K;[Cr(C,0,),] (d) [Co(en),Br,]™

25. Draw the structures of major product(s) in each of the following reactions :
1x3

O

[Ag(NHg)o]* OH™
(a) >

CHO

CHS\ "
(b) /C = C\\
H (I:/; e CHS
O

@iCHO NaCN/HC/
(c) >
COOH

26. Calculate the emf of the following cell : 3

Ni(s) + 2Ag1(0.01 M) —— Ni?t (0.1 M) + 2Ag(s)
Given that EZ.;;=1.05V, log 10=1

C

H
hiHg NaOlI
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07, Trtaiaa sffwnsl & snfid 5ea 3are ) G AR - 1x 3

(a) TS <hl Afre TfaRm simrse & a1 Tffshan, 39 I9aTd SHehT STa3Tee
BT 3 |

(b) CS, U Br, @ |1 %hiHicT hl i

(¢) STZERA & FTY T <hi TIThAT IHeh IT=ITd IHhT ATl tenTul

28. A H 700 K ¥ 720 K e Jfg st 9T fohell S71Hishan 1 o ferieh = M1 81 11 3 |

39 3TUTRaT o ToTu gfskaor St gfesfad shifse |
llog 2 =0.30, log 4= 0.60, 2.303 R = 19.15 J K~ mol!] 3
Qs -

FAfTRIa T97 <hE - 3TTYTHA T9H & | hd 1 SIMYeeh TieU 3T feu 7T 3w o S ST |

29. T 9 H byl Y] ¥ S Tl oIS 1 A I HT o Soidd[ JTeAl digd &l
[T ST a1 b ULHTY] UL IUTEAA 3TTSIT ol 3Heh! JTTHHThI0 HE&AT had & | 381 TR
HHel U 3TN 3ok T W U 37T b I o SUEL BIdT &, UM hgid 9Td 3EH W
AN 3T 3Teh! B GU oIS o SHTeIST o I o SR BAT & | 36 UR 37U, AT Tl
% 3ATSST 1 AT I Bl dl Fped bl I had & | UMY, G-{=eh 37T KU (Heh
G5 oh {oTU, Tehl o TR T AN THGT TS U T o SR BT 3 |

3R FEAT IR STRA Fefetiad I9-1 o I I -

(a) [Co(NH,),CL,)*" 5 Co i fgdiaeh GAISIehdl 1 & ? 1

(b) Epa : [Cr(H,0).]Cl, AR [Cr(H,0)ClCL, - H,0 g1 fhH bR i
AqTEIEdT GRS I & 2 1
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27. Give the structure of the major product expected from the following

reactions : 1X3

(a) Reaction of propanal with methyl magnesium bromide followed by

hydrolysis.

(b) Reaction of phenol with Br, in CS,,.

(c) Reaction of propene with diborane followed by oxidation.

28. The rate constant of a reaction quadruples when the temperature changes

from 700 K to 720 K. Calculate the activation energy for this reaction. 3

[log 2 =0.30, log 4 = 0.60, 2.303 R =19.15 J K-! mol~1]

SECTION - D

The following questions are case-based questions. Read the case carefully

and answer the questions that follow :

29. The oxidation number of the central atom in a complex 1s defined as the
charge 1t would carry if all the ligands are removed along with the
electron pairs that are shared with the central atom. Similarly the charge
on the complex 1s the sum of the charges of the constituent parts 1.e. the
sum of the charges on the central metal 1on and its surrounding ligands.
Based on this, the complex 1s called neutral if the sum of the charges of
the constituents 1s equal to zero. However, for an anion or cationic
complex, the sum of the charges of the constituents is equal to the charge

on the coordination sphere.

Based on the above information, answer the following questions :

(a) What is the secondary valence of Co in [Co(NH,),Cl,]" ? 1

(b) What type of isomerism 1s shown by the complex [Cr(H,0),]Cl; and
[Cr(H,0).CI]Cl, - Hy,O ? 1

56/5/3/22 17 WAAAAAAAAANAAANAAAAAA, P.T.O.
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(c) Tortest & fgrd o TR T d4 379 &1 seieit-ieh fa=ag failge 59 2
() Ay<P
(i) A,>P

< PE

(€ ®Hd [Co(H,0) (CN) (en),)?" # =il UTq 3R hl T AT 3R

SUHEEA ST F&T [Td hIST | 9

30. UHT <@ T 2 fob AR WIS 4 3 i+ AlRTeh] ehl TTE9hdl &0 1 H Bl 8 I
3eh! ST o HRUT TRy T 8 SATd & | 37 ANfiehi ol foeifia sad 2 | rferepran faerfae
T TITTUT BAR IR GRT &1 fohdT ST Fehal cifch Uel o1y It foeTfoeT oh1 Teivor
gehd &, 37d: 3 T3S BN heh THT T & | T JATERA o ST gHR foTu
9T F TAHAT BT Iq~ L Fhd @ | HHFIA: BARX HATER H G4 TaeiHA 3ucisy
&d & | Taerfim (Vitamine) g 31eq] — foee (vital) + T (amine) o SIS §H1 &, FITh
YR YEE M0 ANTen] § THHT g AT | STt 97 981 § ToordT o SR 9 foerfim
<l 1 HHgI H ifichd TohdT T & — F&T foretd et qen et 1 foer forerfi |

fraferfaa weet < 39w difsu

(a) TaeTio B, 1 qau am 12 2 1

(b) 38 foerfm o1 AT SaTsu freehl il A WA o YRhI S b G H g @I amarg | 1

(¢) Tosiowdfcrn fea faerfim K s g g1 Smar 2 7 33 faerfim < < 9 fafge 2

< PE

(¢) BHR IR ¥ faerfa C =1 gfua a1 981 fopan S gehar 3 7 39 faeifia 6 <t 9
g4 aTeT T o1 19 §d13T | 2
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(c) Write the electronic configuration of d* ion on the basis of crystal

field theory when 2
1) Ay<P
i) A,>P

OR

(¢c) Find the oxidation state and coordination number of the central

metal ion in [Co(H,0) (CN) (en),]=* 2

30. Certain organic compounds are required in small amounts in our diet but

i

their deficiency causes specific disease. These compounds are called

vitamins. Most of the vitamins cannot be synthesized in our body but
plants can synthesize almost all of them. So they are considered as
essential food factors. However, the bacteria of the gut can produce some
of the vitamins required by us. All the vitamins are generally available in
our diet. The term ‘vitamin’ was coined from the words vital + amine,
since the earlier identified compounds had amino group. Vitamins are
classified into two groups depending upon their solubility in water or fat

namely-fat soluble vitamins and water soluble vitamins.

(a) What is the other name of Vitamin B ? 1

(b) Name the vitamin whose deficiency causes increased blood clotting time. 1

(c) Xerophthalmia 1s caused by the deficiency of which vitamin ? Give

two sources of this vitamin. 2

OR

(¢c) Why can’t vitamin C be stored 1n our body ? Name the disease caused

by the deficiency of this vitamin. 2
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31. (a) (i) 3 o SWAMd a8 @ 48t H 1.0 kg S WU 8 | S99 394 fohad O™
T TATSehic (AIOR g9 = 62 g mol~!) THATT dTfeh faeiaq &1 TgdTeh
—2.8 °C BT | 511 % TeTt K, 1.86 K kg - mol ™1 & | 3

(ii) TUHTA — TEEH fueror g Ukee oy o ford YR o1 fored e Siran & |
CAtU RIS el 2

AT

(b) (i) 750 mm Hg T€ W I T F=GUAH 99.68 °C & | 500 g FA H Toha
TLhi (AT 99 = 342 g mol™1) fetn St aifer 918 100 °C W YA
HL | (I o T K, =0.52 K kg mol~T1)

(il) B0 fam 9aTsu 371 36T iy Teh ST foiflgy | 3 + 2

32. (a) U oMb A (A) fept 3vEa C,H,,0 & 2, 4-DNP o~ AT %,
BT foe=q &1 3mafad Har g 9T Shiasmy TR 21 8 | I 3TTeH1ehr I
98 1, 2-S=HSTSehTd R oTeh 37T 1T & |

(1) ek (A) I d8aTHY 3T 36T [TUPAC 9 faiRau |
(ii) TR (A) i AR fARgT :

.

(1) 2, 4-STATSIBARTSSS M o HTY 3T

(2) i faetsa < 91y

(ii1) FfreR (A) =1 gfiestor forftge S/a a8 Hiasm sttt car 2 | 2+2+1
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SECTION - E

31. (a) (1) Ishan’s automobile radiator 1s filled with 1.0 kg of water. How

many grams of ethylene glycol (Molar mass = 62 g mol™!) must

Ishan add to get the freezing point of the solution lowered to —

2.8 °C. K, for water 1s 1.86 K kg - mol 1. 3

(11) What type of deviation from Raoult’s law 1s shown by ethanol

and acetone mixture ? Give reason. 2
OR

(b) (1) Boiling point of water at 750 mm Hg pressure 1s 99.68 °C. How

much sucrose (Molar mass = 342 g mol™}) is to be added to 500 g

of water such that it boils at 100 °C ? (K, for water = 0.52 K kg
mol™1).

(11) State Henry's law and write 1ts any one application. 3 + 2

32. (a) An organic compound (A) with the molecular formula C4H,,O forms

2, 4-DNP derivative, reduces Fehling solution and undergoes
Cannizzaro reaction. On vigorous oxidation, i1t gives 1, 2-benzene

dicarboxylic acid.
(1) Identify the compound (A) and write 1its IUPAC name.
(11) Worite the reaction of compound (A) with

(1) 2, 4-Dinitrophenyl hydrazine and

(2) Fehling solution

(111) Write the equation of compound (A) when 1t undergoes

Cannizzaro reaction. 2+2+1

OR
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b) () T=faiga s sror e 1 x 2
(1) Ufcearsesl 3R hIeH & o-BI3GISHI o1 TIHTE TFATT BIAT & |
(2) HICTHI ohi 37U UfcSETZSI T TR T & Bl ST 7 |

(ii) Tr=faRgd =1 safera Hif . 1x 2

(1) WU, VEHEH 3T S=aifcegrge i Ikl At Irrst 3rfufshanati
o fd Tedt Tfuferamefierar 4 |

(2) YU, TIHTA TR STSHIIA ST, TIUFTA ohi 3eh daHTeh] o gad shi H |
(iii) S=SIIEeh 3T T S~lcearse H fa¥e id o TU O3 TaEHS Theor e | 1

33. Tar=fafga 9 9 fagl aig a91 & I i 1x5
(a) Ce(II) JAEHT ¥ Ce(IV) | Teiehd 1 ST & | Teoufi shifa |

(b) E°(Mn2*/Mn) —1.18 V 8 | GHiUEY d-sAieh awdi bl ol § I8 AH T
RUTTcHS ] & 2

() 3d — 2fl < fehe oeel hl HUH TAeHl =IAdH & TR =1 ?
(d) HITSTT sHHE I TFcAishd hid T HIT BT & ?

(e) Zn, Cd 31X Hg Iuet 4Tqu &, o1 2
(f) YT AT HCI St 3ufeta o o1 &l Tohdm Srar & 2

(g) TehHU dwdl (9TqaTl) o T adEe dR$HE Bld & Jdich 3o JATHETES
IV / AT BId & | ShIUT GIfoTT |
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(b) (1) Account for the following : 1 x 2

(1) The alpha (a)-hydrogens of aldehydes and ketones are

acidic 1n nature.
(2) Oxidation of aldehydes 1s easier than ketones.
(11) Arrange the following in : 1 x 2

(1) Decreasing reactivity towards nucleophilic addition

reaction propanal, acetone, benzaldehyde.
(2) Increasing order of boiling point :

Propane, Ethanol, Dimethylether, Propanal

(111) Give simple chemical test to distinguish between Benzoic acid
and Benzaldehyde. 1

33. Attempt any five of the following : 1x5

(a) Ce(IIl) 1s easily oxidised to Ce(IV). Comment.

(b) E°(Mn?*/Mn) is —1.18 V. Why is this value highly negative in

comparison to neighbouring d block elements ?

(c) Which element of 3d series has lowest enthalpy of atomisation and

why ?
(d) What happens when sodium chromate 1s acidified ?

(e) Zn, Cd and Hg are soft metals. Why ?

(f) Why 1s permanganate titration not carried out in the presence of
HCI ?

(g) The lower oxides of transition metals are basic whereas the highest

are amphoteric/acidic. Give reason.
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